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Summary

market equilibrium is a state in which the quantity supplied of a good or service is equal to the quantity
demanded. This occurs when the price of the good or service is at a level where the plans of consumers and

producers are in balance. At the equilibrium price, there are no surpluses or shortages.

Equilibrium price is determined by the intersection of the supply and demand curves. The supply curve
shows the quantity of a good or service that producers are willing to sell at different prices, while the demand
curve shows the quantity that consumers are willing to buy at different prices. The equilibrium price is the
price at which the two curves intersect.

Demand and supply change a market will not stay in equilibrium indefinitely. If the price is below the
equilibrium price, there will be a shortage, as consumers will want to buy more than producers are willing to
sell. This will drive the price up towards the equilibrium price. If the price is above the equilibrium price, there
will be a surplus, as producers will want to sell more than consumers are willing to buy. This will drive the
price down towards the equilibrium price.

Taxes effects:

Demand: When a tax is imposed on a good or service, it effectively increases the price that consumers have
to pay. This can lead to a decrease in the quantity demanded of the good or service. The extent to which
demand decreases depends on the elasticity of demand, which measures how responsive consumers are to
changes in price. If the elasticity of demand is high, demand will fall sharply in response to a tax increase.
Conversely, if the elasticity of demand is low, demand will be less affected by a tax increase.

Supply: Taxes can also affect supply. When a tax is imposed on producers, it increases their cost of
production. This can lead to a decrease in the quantity supplied of the good or service. The extent to which
supply decreases depends on the elasticity of supply, which measures how responsive producers are to
changes in their cost of production. If the elasticity of supply is high, supply will fall sharply in response to a
tax increase. Conversely, if the elasticity of supply is low, supply will be less affected by a tax increase.
Subsidies effects:

Demand: When a subsidy is provided for a good or service, it effectively reduces the price that consumers
have to pay. This can lead to an increase in the quantity demanded of the good or service. The extent to
which demand increases depends on the elasticity of demand, as explained above.

Supply: Subsidies can also affect supply. When a subsidy is provided to producers, it reduces their cost of
production. This can lead to an increase in the quantity supplied of the good or service. The extent to which
supply increases depends on the elasticity of supply, as explained above.

Demand surplus and supply surplus:

The intersection of the supply and demand curves determines the equilibrium price and quantity. At the
equilibrium price, there is no surplus or shortage, as the quantity supplied is equal to the quantity demanded.
the equilibrium price is the price where the supply and demand curves intersect. At the equilibrium price, the

quantity supplied (SP) is equal to the quantity demanded (SC).



